2—6
1)$E
(NHE=\dY L

HITHE - BERERBEENZEL

HE=3@ v DOWTHE . HESHAEE 2@ & BRP T 2 &, miE - b,

TH

CRH & B ERT O

ENEL o TWVWD,

BTH

(N
3,000

2,500

2,000

1,500

1,000

500

BAM:H OAHME:S

(N
3,000

2,500

2,000

1,500 |

1,000

500

(N
3,000

2,500

2,000

1,500

1,000

500

MEBRFENERFR A 10 RFE~16 RfE OBITH, HERE @R

#hex 7

F o EEREAO®

-

<{milIE

=8

=@ Y =EPMHEO

T

>

it N
) = P,
R

N
|9

N RBEREMO I
. J

H R

(&)
3,000

2,500

2,000

1,500

1,000

500

BAM:H OAHM:S

594

(&)
3,000

2,500

2,000

1,500

1,000

500

(&)

3,000

2,500

2,000

1,500

1,000

500

1,160

33



(2)=m’Y ik

e
(N) BAM: LY BAM: X
3,000
2,500

2,000

1,500

1,000

500

(N
3,000

2,500

2,000

1,500

1,000

500

BAME: LY OAR:Z

B 10 FrR~16 BB 05T, AESERHR

=7

F o EEREAO®

A=

|
Nld—:—

=8

=@ Y =EPMHE0

J

NI

(N
3,000

2,500

2,000

1,500

1,000

500

BAM: LY OAR:Z

{7

Nt

=9

RBFIENO

-

H R

(&)
3,000

2,500
2,000
1,500
1,000

500

BAM: LY OAM: X

(&)
3,000

2,500
2,000
1,500
1,000

500

BAR: LN OAR: X

(&)
3,000

2,500
2,000
1,500
1,000

500

BAR: LY OAR: X

34



2) AH

SCEBREHIERIA 10 BB~ 16 BB OB(TH - B iRHAcH &

(1H=EY e
WATH
(N BAM:H OAM:S N
3,000 @ | |
4 N\
2,500 — s 7 —
| ¥4 IFEREO® I
2,000 \ J
1,500 $__ _______ _J‘[_
1,000 H )
500
0
(N) BAR:H OAMR:S i3
3,000 =
&
2,500 f---—---—---—————— - Y
2,000 |-
4 N\
1,500 w8
H=EY =FERMEQ
1,000 - ~
PR
. % 5
(N) BAR:H OAMR:S
3,000
2500 [~ — -
% 7@ —
,,,,,,,,,,,,,,,,,,,,,, = 2
2,000 \ F
1,500 |- N _1_
1,000 P N
this 9
500 ] HERSE® I
\\§ J
0

H R

(&)
3,000

2,500
2,000
1,500
1,000

500

BAM:H OAM:S

(&)
3,000

2,500
2,000
1,500
1,000

500

BAM:H BOAM:S

(&)
3,000

2,500
2,000
1,500
1,000

500

BAMR:H BAM:S

35



(2)=m’Y ik

HBATH
(AN) BAME: LY BAR:Z
3,000
2500 [------------—-----oo

2,000

1,500

1,000

500

(N
3,000

2,500
2,000
1,500
1,000

500

BAR:L OAR:X

(N
3,000

2,500

2,000

1,500

1,000

500

BAR: L BAR:X

MIBRFENEFRTE 10 RFE~16 RFE OATH - BERHLAE &

#hex 7

F o EERAO®

LY

4‘__ _______

A=

=8

=@ Y =EPMHE0

J

NI

{7

ELAED

(&)

3,000
2,500
2,000
1,500
1,000

500

BAR:L OAR:Z

(&)

3,000
2,500
2,000
1,500
1,000

500

r 812

842

(&)

3,000
2,500
2,000
1,500
1,000

500

36



3) SMEY HREMEORIILEE

@ E F4IBREAO
EADIE D OB(THE, B A » L > %
B L BRI CLBT 5 &L MY & ___T__$ ______ _ _L_ BifchE
FikE, BBRFPoOZBEBENL 2> T
50 VA==) [==) - N s 4= = FF =
NEREREET I0BFE~16BE0STE - BEIEXEE
HITE BHisE
(N) BAM:H OFRA:D (&) BAR:H BFAE:D
2,000 2,000
1,500 | 1,500 |
1,000 1000 fp -
500 500
TR
0 0
(N) BAMR:L OKFM:Z (&) BAMR: L OAM:Z
2,000 2,000
740 J 1500 b0
1,000 10f ..
500 500 359 .
%8 i
0 0 i52 ‘
EEE
SITE BHEgE
(AN) BAMR:H BARA:D (&) BAM:H OAME:S
2,000 2,000
1500 |~~~ —mm 1500 p = - - =
1,000 1,000
742 .
500 500
0 0
Dga B EER =
(N) BAMA: LN OAFMA:Z (&) BAMR: L OAM:Z
2,000 2,000
7o J 1,500
1,000 | 1,000
500 | 500 |
0 0

BHEEF KR

37





